4T[0 BRI Y = =7 KUKBEH RS

=Y - BEERE 7 — /L (50m) 1/1
WA :20247H27H (+)

No. 11 Z+F 50m BHEF BA L L—RR PNl 31.55
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B K £ & FE 7K B iclE
1 A O [EPN /N3 3/ 3 33. 49 9%k ( 0.71)
2 WRBIZAZ SPHAE YT L /N3 3/ 4 34.02 128 (0.71)
34 HEALAE EPN /N3 3/ 5 34. 63 8%k ( 0.69)
4 ) HiE TSS & X A8 /N3 3/ 6 36. 06 7% ( 0.68)
5 FnH  f&H fiE A /N3 3/ 1 36. 22 THk  (0.74)
6 #EE 2k TSS & X A B /N3 3/ 2 36. 49 7#%  ( 0.58)
T BRI AR PN /N3 3/ 7 37.75 68% ( 0.75)
8 BH  FF] SPHAE T LI /N3 2/ 4 38. 71 9%k ( 0.71)
9 filKH Z D& Ui—F=r4) /N3 2/ 3 40. 14 58k ( 0.80)
10 g fEE SPHAEIT LI /N3 3/ 8 40. 42 8#%k ( 0.68)
11 A3 Tr=F=31) /N3 2/ 5 40. 96 4%%  ( 0.85)
12 /NMR BEER Tk—=F=AAY /N3 2/ 6 41. 60 7#%  ( 0.88)
13 JoR %L {EPN /N3 1/ 6 42. 88 65% ( 0.75)
13 AREf H A ViA=L /N3 2/ 2 42.88 3% (0.85)
15 [ A3 i S C /N3 2/ 1 46. 38 1% (0.89)
16 EiE =Hiy SPH4&:IR /N3 1/ 3 46. 81 % (0.73)
17 EH  AHH] SPHAE T 1L /N3 2/ 8 48. 01 3% (0.78)
18 thiE AR SPH&: IR /N3 2/ T 48. 48 3% (0.77)
19 &H 4 S C /N3 1/ 2 53. 34 ( 0.96)
20 A)Fx AR S C /N3 1/ 1 57.93 ( 1.07)
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